Cexkuua A,buB

3ACTP. OBLLU OBLLUA LEHAB EUR AKUUAB
BX ETAX / KOTA CTATYC OBEKT ™n WU3/IOMEHUE - ET — [ABOP TEPACA cc EUR ¢ AC
N N N M2 M2 M2 EUR EUR
A 1 (KOTA +0.00) npoaageH A-AN-H1 3-cT. W3TOK 90,07 16,31 106,38 39,51 - - -
A 1 (KOTA +0.00) pesepBupaH A-AMN-H2 3-cT. V3TOK 117,76 21,32 139,08 54,79 - = =
A 2 (KOTA +3.40) A-AM-01 2-cT. 3anag, 63,85 11,55 75,40 - - 114 000 -
A 2 (KOTA +3.40) A-AN-02 2-CT. 3anag/ustok 83,01 15,02 98,03 - - 143 000 -
A 2 (KOTA +3.40) npoaageH A-AN-03 cTyano W3TOK 46,00 8,32 54,32 - - - -
A 2 (KOTA +3.40) npogaseH A-AN-04 2-CT. W3TOK 73,19 13,24 86,43 = = = =
A 2 (KOTA +3.40) A-AN-05 2-cT. or/usTok/3ana, 75,46 13,65 89,11 - - 134 000 -
A 2 (KOTA +3.40) A-AN-06 2-CT. 3anag, 64,16 11,61 75,77 - - 117 000 -
A 3 (KOTA +6.20) npoaageH A-AN-07 2-cT. 3anag, 63,85 11,55 75,40 - - - -
A 3 (KOTA +6.20) pesepBupaH A-A-08 2-CT. 3anag/vstok 83,01 15,02 98,03 = = = =
A 3 (KOTA +6.20) pesepsupaH A-AN-09 cTyamo M3TOK 46,00 8,32 54,32 - - - -
A 3 (KOTA +6.20) npogaseH A-AM-10 2-CT. V3TOK 73,19 13,24 86,43 = = = =
A 3 (KOTA +6.20) npogageH A-AN-11 2-cT. or/usTok/3ana, 75,46 13,65 89,11 - - - -
A 3 (KOTA +6.20) npogaseH A-AN-12 2-CT. 3anaj, 64,16 11,61 75,77 = = = =
A 4 (KOTA +9.00) npoaageH A-AN-13 2-cT. 3anag, 63,85 11,55 75,40 - - - -
A 4 (KOTA +9.00) npogaseH A-AN-14 2-CT. 3anaa/ustok 83,01 15,02 98,03 = = = =
A 4 (KOTA +9.00) npoaageH A-AN-15 cTyano W3TOK 46,00 8,32 54,32 - - - -
A 4 (KOTA +9.00) A-AN-16 2-CT. N3TOK 73,19 13,24 86,43 - - 153 000 -
A 4 (KOTA +9.00) pesepsupaH A-AN-17 2-cT. or/wsTok/3ana, 75,46 13,65 89,11 - - - -
A 4 (KOTA +9.00) A-AN-18 2-CT. 3anag, 64,16 11,61 75,77 - - 134 000 -
A 5(KOTA +11.80) pesepsupaH A-AT-01 2-cT. 3anaa/ustok 93,00 16,84 109,84 - 34,76 - -
A 5(KOTA+11.80) A-AT-02 2-CT. N3TOK 84,79 15,34 100,13 - 26,07 143 000 -
A 5(KOTA +11.80) npoaageH A-AT-03 2-cT. or/usTok/3ana, 145,16 26,28 171,44 - 70,41 - -
3 1 (KOTA +0.00) B-AM-H1 2-CT. torosanag, 83,69 16,1 99,79 45,03 - 135 000 -
3 1 (KOTA +0.00) B-0®-01 oduc cesep 45,07 8,23 53,30 - - 83000 -
b 2 (KOTA +3.40) pesepBupaH B-AMn-01 3-cT. 3anag/vstok 94,06 18,09 112,15 = - 168 000 -
b 2(KOTA+3.40) npoaaneH B-AN-02 3-ct.  3anap/cesepo 112,75 21,68 134,43 . B =
[ 2 (KOTA +3.40) B-AMN-03 2-CT. ceBepousTok 71,82 13,81 85,63 = - 128 000
B 2 (KOTA +3.40) B-AN-04 2-cT. ceBepomsTok 62,86 12,09 74,95 - - 116 000
[ 2 (KOTA +3.40) npogaseH B-AMN-05 2-CT. torosanag, 62,07 11,94 74,01 = = = =
B 2 (KOTA +3.40) B-AN-06 2-cT. torosanag, 58,45 11,24 69,69 - - 106 000 -
b 3 (KOTA +6.20) pesepBupaH B-AMN-07 3-cT. 3anag/vstok 94,06 18,09 112,15 - = = =
B 3 (KOTA +6.20) pesepsupaH B-AN-08 3-cT. 3anag/cesepo 112,75 21,68 134,43 - - - -
[ 3 (KOTA +6.20) B-AMN-09 2-CT. ceBepousTok 71,82 13,81 85,63 = - 130 000 -
B 3 (KOTA +6.20) B-AN-10 2-cT. ceBepomsTok 62,86 12,09 74,95 - - 122 000 -
[ 3 (KOTA +6.20) npogaseH B-AMn-11 2-CT. torosanag, 62,07 11,94 74,01 = = = =
b 3 (KOTA +6.20) b-AM-12 2-CT. torosanag, 58,45 11,24 69,69 - - 112 000 -
b 4 (KOTA +9.00) b-Al-13 3-cT. 3anag/ustok 94,06 18,09 112,15 - - 183 000 -
3 4 (KOTA +9.00) B-AM-14 3-cT. 3anag/cesepo 112,75 21,68 134,43 - - 227 000 -
[ 4 (KOTA +9.00) B-AMN-15 2-CT. ceBepousTok 71,82 13,81 85,63 = - 142 000 -
B 4 (KOTA +9.00) B-AN-16 2-cT. ceBepomsTok 62,86 12,09 74,95 - - 124 000 -
b 4 (KOTA +9.00) b-AM-17 2-CT. torosanag, 62,07 11,94 74,01 - - 123 000 -
b 4 (KOTA +9.00) npoaageH b-AM-18 2-CT. torosanag, 58,45 11,24 69,69 - - - -
B 5(KOTA +11.80) B-AT-01 2-CT. or/w3Tok/3ana, 85,71 16,49 102,20 - 27,42 139 000 -
b 5 (KOTA +11.80) B-AT-02 2-cT. 3anaa/cesepo 96,91 18,64 115,55 - 49,4 155 000 -
B 5(KOTA+11.80) B-AT-03 2-CT. torosanag, 119,92 23,08 143,00 - 32,64 179 000 -
B 5(KOTA +11.80) pesepsupaH B-AT-04 2-cT. torosanag, 110,75 21,3 132,05 - 37,82 - -
B 1 (KOTA +0.00) B-AM-H1 2-CT. torosanag, 83,69 15,27 98,96 33,17 - 139 000 -
B 1 (KOTA +0.00) B-0®-01 oduc M3TOK 45,07 8,23 53,30 - - 91000 -
B 2 (KOTA +3.40) npogaseH B-AM-01 2-CT. torosanag, 58,45 10,66 69,11 - - - -
B 2 (KOTA +3.40) npoaageH B-AM-02 2-CT. torosanag, 62,07 11,33 73,40 - - - -
B 2 (KOTA +3.40) npogaseH B-Al-03 2-CT. CeBepomnsTok 62,86 11,47 74,33 - - - -
B 2 (KOTA +3.40) B-AN-04 2-cT. cesepomusTok 71,82 13,11 84,93 - - 129 000
B 2 (KOTA +3.40) B-AM-05 3-cT. n3Tok/cesep 112,75 20,57 133,32 - - 202 000
B 2 (KOTA +3.40) B-AM-06 3-cT. M3TOK 94,06 17,16 111,22 - - 170 000 158 000
B 3 (KOTA +6.20) B-AM-07 2-CT. torosanag, 58,45 10,66 69,11 - - 106 000 -
B 3 (KOTA +6.20) npoaageH B-AN-08 2-cT. torosanag, 62,07 11,33 73,40 - - - -
B 3 (KOTA +6.20) B-AMN-09 2-CT. CeBepomnsTok 62,86 11,47 74,33 = - 115 000 -
B 3 (KOTA +6.20) B-AN-10 2-cT. cesepomusTok 71,82 13,11 84,93 - - 134 000 -
B 3 (KOTA +6.20) pesepBupaH B-AMn-11 3-cT. n3Tok/cesep 112,75 20,57 133,32 = = = =
B 3 (KOTA +6.20) B-AM-12 3-cT. M3TOK 94,06 17,16 111,22 - - 184 000 -
B 4 (KOTA +9.00) B-Al-13 2-CT. torosanag, 58,45 10,66 69,11 - - 115 000 -
B 4 (KOTA +9.00) pesepBupaH B-AN-14 2-cT. torosanag, 62,07 11,33 73,40 - - - -
B 4 (KOTA +9.00) B-AM-15 2-CT. CceBepomnsTok 62,86 11,47 74,33 = - 123 000 -
B 4 (KOTA +9.00) B-AN-16 2-cT. cesepomusTok 71,82 13,11 84,93 - - 132 000 -
B 4 (KOTA +9.00) B-AN-17 3-cT. n3Tok/cesep 112,75 20,57 133,32 = - 228 000 -
B 4 (KOTA +9.00) B-AM-18 3-cT. M3TOK 94,06 17,16 111,22 - - 176 000 -
B  5(KOTA +11.80) pesepBupaH B-AT-01 2-CT. torosanag 110,22 20,11 130,33 - 37,82 - =
B 5 (KOTA +11.80) B-AT-02 2-cT. cesepousTok 119,92 21,89 141,81 - 32,64 180 000 -
B 5 (KOTA +11.80) B-AT-03 2-CT. n3TOK/cesep 96,91 17,68 114,59 = 49,4 157 000 -
B 5 (KOTA +11.80) B-AT-04 2-CT. u3Tok/3anag 84,81 15,47 100,28 - 27,42 145 000 -




HapsemHu rapaku 1 napkomecra

3ACTP. OBLK OBLLUA
BX ETAX / KOTA CTATYC OBEKT ™n WU3NN0XKEHUE nnow YACTM nnow ABOP TEPACA LEHABEUR LIEHA B EUR
N N N M2 M2 M2 EUR EUR
r 1 (KOTA +0.00) r-An-H1 3-cT. 3anag, 124,96 23,17 148,13 39,52 - 230 000 -
r 1 (KOTA +0.00) npogaseH r-An-H2 3-cT. 3anag, 93,09 17,26 110,35 54,97 - = =
r 1 (KOTA +0.00) r-09-01 oduc 1or/u3ToK 52,69 9,77 62,46 - - 102 000 -
r 2 (KOTA +3.40) npogaseH r-An-01 CTyAno 3anag, 43,95 8,15 52,10 = = = =
r 2 (KOTA +3.40) r-An-02 2-CT. usTok/3anag 83,06 15,4 98,46 - - 148 000 137 500
r 2 (KOTA +3.40) r-An-03 2-CT. N3TOK 63,51 11,78 75,29 - - 115 000 107 000
r 2 (KOTA +3.40) r-An-04 2-cT. M3TOK 63,18 11,72 74,90 - - 117 000
r 2 (KOTA +3.40) r-An-05 3-cT. tor/ustok/3an: 138,13 25,61 163,74 - - 229 000
r 2 (KOTA +3.40) r-An-06 2-cT. 3anag, 71,52 13,26 84,78 - - 132 000
r 3 (KOTA +6.20) npogaseH r-An-07 CTyAno 3anag, 43,95 8,15 52,10 = = = =
r 3 (KOTA +6.20) pesepsupaH r-An-08 2-cT. u3Tok/3anag 83,06 15,40 98,46 - - - -
r 3 (KOTA +6.20) pesepBupaH -An-09 2-CT. V3TOK 63,51 11,78 75,29 = = = =
r 3 (KOTA +6.20) r-An-10 2-cT. M3TOK 63,18 11,72 74,90 - - 127 000 -
r 3 (KOTA +6.20) pesepBupaH r-An-11 3-cT. tor/u3Tok/3an: 138,13 25,61 163,74 = = = =
r 3 (KOTA +6.20) r-An-12 2-cT. 3anag, 71,52 13,26 84,78 - - 139 000 -
r 4 (KOTA +9.00) npogaseH r-An-13 CTyAno 3anag, 43,95 8,15 52,10 = = = =
r 4 (KOTA +9.00) r-An-14 2-cT. u3ToK/3anas 83,06 15,4 98,46 - - 153 000 -
r 4 (KOTA +9.00) r-An-15 2-CT. N3TOK 63,51 11,78 75,29 - - 123 000 -
r 4 (KOTA +9.00) npoaageH r-An-16 2-cT. W3TOK 63,18 11,72 74,90 - - - -
r 4 (KOTA +9.00) r-An-17 3-cT. tor/ustok/3an: 138,13 25,61 163,74 - - 254 000 -
r 4 (KOTA +9.00) r-An-18 2-cT. 3anag, 71,52 13,26 84,78 - - 145 000 -
r 5 (KOTA +11.80) -AT-01 2-CT. n3Tok/3anag 93,37 17,32 110,69 - 34,71 146 000 -
[ 5(KOTA +11.80) [-AT-02 2-cT. M3TOK 79,04 14,66 93,70 - 24,18 145 000 -
[ 5(KOTA+11.80) pesepBupaH [-AT-03 3-cT. tor/usTok/3an: 117,31 21,76 139,07 - 25,83 - -
[ 5(KOTA +11.80) [-AT-04 2-cT. 3anag, 81,44 15,1 96,54 - 26,05 142 000 -
A 1 (KOTA +0.00) A-TP-01 rapax = 32,67 5,91 38,58 - - 46 000 -
A 1 (KOTA +0.00) A-TP-02 rapax - 31,12 5,63 36,75 - - 46 000 -
A 1 (KOTA +0.00) npogaseH A-TP-03 rapax = 34,33 6,21 40,54 = = = =
A 1 (KOTA +0.00) npoaageH A-TP-04 rapax - 23,15 4,19 27,34 - - - -
3 1 (KOTA +0.00) b-IP-01 rapax = 23,34 4,49 27,83 - - 34 000 -
3 1 (KOTA +0.00) b-IP-02 rapax - 31,87 6,13 38,00 - - 37 000 -
3 1 (KOTA +0.00) b-IP-03 rapax = 25,93 4,99 30,92 - - 35 000 -
3 1 (KOTA +0.00) b-IP-04 rapax - 26,77 5,15 31,92 - - 35 000 -
3 1 (KOTA +0.00) b-I'P-05 rapax = 30,84 5,93 36,77 - - 41000 -
3 1 (KOTA +0.00) B-IP-06 rapax - 36,65 7,05 43,70 - - 51 000 -
3 1 (KOTA +0.00) b-IP-07 rapax = 49,76 9,57 59,33 - - 59 000 -
B 1 (KOTA +0.00) B-rpP-01 rapax - 26,77 4,88 31,65 - - 37 000 -
B 1 (KOTA +0.00) B-IP-02 rapax = 25,93 4,73 30,66 - - 36 000 -
B 1 (KOTA +0.00) B-rP-03 rapax - 31,87 5,81 37,68 - - 45000 -
B 1 (KOTA +0.00) B-IP-04 rapax = 23,34 4,26 27,60 - - 34 000 -
B 1 (KOTA +0.00) B-IP-05 rapax - 30,84 5,63 36,47 - - 41000 -
B 1 (KOTA +0.00) B-I'P-06 rapax = 36,65 6,69 43,34 - - 51 000 -
B 1 (KOTA +0.00) B-rP-07 rapax - 49,76 9,08 58,84 - - 59 000 -
r 1 (KOTA +0.00) r-re-01 rapax = 22,81 4,23 27,04 - - 34 000 -
r 1 (KOTA +0.00) r-re-02 rapax - 31,16 5,78 36,94 - - 37 000 -
r 1 (KOTA +0.00) -reP-03 rapax = 22,34 4,14 26,48 - - 34 000 -
r 1 (KOTA +0.00) r-re-04 rapax - 37,27 6,91 44,18 - - 45000 -
- BbTpelleH ABop 3-NM-01  napkomacTo = 12,40 0 12,40 = = 16 000 -
- BbTpeweH ABop 3-NM-02  napkomacTo - 11,60 0 11,60 - - 15 000 -
- BbTpelleH ABop 3-NIM-03  napkomsacTo = 11,96 0 11,96 = = 15 000 -
- BbTpelweH ABOp 3-NM-04  napkomacTo - 12,76 0 12,76 - - 16 000 -
- BbTpelleH ABop 3-NIM-05  napkomsacTo = 12,50 0 12,50 = = 16 000 -
- BbTpeweH ABop 3-NM-06  napkomacTo - 12,50 0 12,50 - - 16 000 -
- BbTpelleH ABop 3-NM-07  napkomacTo = 12,50 0 12,50 = = 16 000 -
- BbTpeweH ABoOp 3-NM-08  napkomacTo - 12,75 0 12,75 - - 15 000 -
- BbTpelleH ABop 3-NIM-09  napkomsacTo = 12,50 0 12,50 = = 15 000 -
- BbTpeweH ABop 3-NM-10  napkomAacTo - 12,50 0 12,50 - - 15 000 -
- BbTpelleH ABop 3-NIM-11  napkomsacTo = 12,50 0 12,50 = = 15 000 -
- BbTpeweH ABoOp 3-NM-12  napkomAacTo - 12,00 0 12,00 - - 15 000 -
- BbTpelleH ABop 3-NIM-13  napkomacTo = 12,00 0 12,00 = = 15 000 -
- BbTpeleH ABop 3-NM-14  napkomAacTo - 12,00 0 12,00 - - 15 000 -






